PHYSIQUE EES * ASTRONOMIE ET ASTROPHYSIQUE * FEUILLE DE FORMULES

lal

1UA

®
[
DS
;‘I\)
)
non

11
Tr T

D(a.l.) = 3,26/ 6(")

L
47D’

L(Le) =400 P (jours)

FF° _FF

~ PA T 2a

T2(an) = a3 (UA)

3
2 . a(UA)
T“ (années) = M.(Mo)

Da=(l+e)a

Ve _Da
=5

Vp=Vpn (1+e€)

2ma _
Vi = T (1 _ e2) 1/2

_GM
9=R7

9,46 x 10%° m

3,26 a.l.

1,49 x 10" m

1,67 x 10" kg

1,99 x 10¥ kg

3,83 x 10 W

1,69 x 10" W/m?

3 x 108 m/s

6,67 x 10 N-m’/kg?
5,92 x 10* s%-kg/m?
6,63 x 10 Js

5,67 x 10°® W/(m?-K?)

wli-
e

1
=

I(sir) = 2,02 —é—)—

D" (a.l.)

El=

E = ymc?

E=mc

Dp=(1-¢e)a

2GM
Viip = R

T=1f A=cT

T (K) = T(°C) + 273

Apic (M) = 2,90 x 10°/ T(K)

r=oT!
8 = A obs/ X norm

dpr = Y0p
Lmax =CT
a(")=2,5x10°A/D
R = €% (May — Myp)/Myy

3

Aot
T?=Kp—
Msyst
R, = 2GM/c?

Aa=2Gmh/d?®

L=1/S
\
6D—1+C

6grav Ygrav

(") = 0,15 / D(m)

R (km) = 3 M(Me)

Ha = 65 (km/s)/Mpc =2,1 x 10 ¥s!
=6,6 x10 " a™* =66 (nm/a)/km

VAo =HaDa

Ta=2,73K

H ((km/s)/Mpc) = 30 \/pm (My/m°)

Pm= pmA/e3

d (Ga.l)=30e (1-1/e)

Ru (@.1) =31 (a)

t=1,44 Ty, In ((E/P) + 1))

5=1le

T= TA/e

e=(ta)*®

D (Ga.l.) =30 (1 —+/e)

Teq (K) = 280 [(1-A) L(Lo) / D* (UA)]™

Vinoy = 146 \/T(K)/m(mp)

R= Vlib/Vmoy > 10



